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Match-up:   ( 1 point each )
For each numbered term, enter the letter corresponding to the definition that best matches the term.

____ 1- suspended load

A- A river’s flow rate that is needed to move certain sediment particles 






along the bed of the stream.
____ 2- turbulence


B- The decrease in sediment size along a river bed as it flows.
____ 3- eddies



C- The amount of sediment that a river can hold without depositing it.
____ 4- bed load


D- The irregular motion of water.
____ 5- threshold velocity

E- Swirling masses of fluid within a moving body of a liquid.
____ 6- downstream fining

F- Sediment particles that travel along the bottom of a river.
Short Answer:  ( 5 points each )
7) What is the difference between physical breakdown (mechanical weathering) and dissolution (chemical weathering)  ?   


_____________________________________________________________________________________

8)  What would a football sized chunk of granite with sharp edges look like after it traveled from Half Dome in Yosemite to the Golden Gate Bridge in San Francisco via the Merced, Stockton, and Sacramento Rivers ? 

_____________________________________________________________________________________

Diagram:  ( 1 point each )  Using the chart below, identify the sphericity and the roundness for each numbered rocks given to you by your instructor.
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